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#F 2(R+ £ :C=12 H=1> 0=16)
(A) 64.00
(B) 72.00
(C) 128.0

(D) 144.0

CR3BWLES Y E A FmE 2 A K 5 38.71% 0 9.68% 3 %
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51.61%% > A~ F & 562 Bl it &z 03N 5?2
(B + & :C=12> H=1> 0=16)
(A) C2H60:
(B) C3HeO
(C) C3HeO2
(D) C4HoO

S 4rd F Hogen il 8 % % 5 — 285.8 kd/mol» & F H20() e 1% 2 2
= # L % 5 kJ/mol ?

(A) —85.8

(B) —142.9
(C) —285.8
(D) —571.6
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6. BX " %2CHss 2 E 5 % > £1.00 atm~0.00CKk & T " 2 en B &
(a2
(h+ & :C=12> H=1: 3 £ 5 ¥ ¥ #R=0.082 L-atm/mole-K)

(A) 0.082
(B) 0.715
(C) 1.035
(D) 1.987
1.F MY P FEoEy ROWBE > Tkt v 27
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(B) e 85t 2 BEEIEF R
(C) B ARAFR » ook § BAx<
(D) # FMAfA&~ > oz F RA&
8. F M kE AT T kit P K DA 7
(A) "+ B EXRFILEF T ) 3@ FH> 2

(B) A K7 1m0 % 3g 3 % 3kx 30
(C) mkix ¥ k4 ¥7f k? 2
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9.7~ 0.2=2 2 ehp kR fF A B¢ 75 24mgzx 3+ Cl > B
pokoRk® Ik R S S S ppm?
(A) 2.4
(B) 4.8
(C) 12
(D) 36
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11, T 7vme it & 49 § iy CHcd gk ?
(A) LisN{=N20s
(B) N203frN204
(C) N2Of=NO
(D) NO29=N204
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(C) HF» &+ ¥ H BFR G hgE AL e 4
(D) BHsA F # H—B— Hit & 5 109.5°
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13. TF & FpHE 4T
EAXE 29158 G FATE s B FAL10.9 - pvn
- By & pﬁxrﬁm[H]‘P
(A) B % i iF #
(B) ¥ Iy /%‘5?%“]
(C) 4
(D) & Axx

14, TR F e mik » Ry ?
(A) = 7 B(M H 7 m)
(B) ¢ p%
(C) = fte iy
(D) 7 A
15. T 5] B x4 cn4
(A) i ;% % CnHan
(B) # BCh + ¢ & usplR 3B i h 3k
(C) ChR =i h3 chigd L i né
(D) i BB F s
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16. T 5% M E &2 2L L bkt uaiﬂz T+ FE ?

(A) 3 4 o= ] Z12>Br2>Cl2>F»

(B) “ % FPF o Sqord b33tk

(C) ¥ Em &5 HAM? L3 A &FiFH

(D) E%]TL @ kB RBEEE R )R AEE HF>HCI> HBr> HI
17. 7™ 7] endc it o x?;ﬁﬁﬁ;‘?

(A) d-iB A ~ %~ fEp &R~ F

(B) Fiphdr kin i 5 % & d

(C) B ~% 7 4 8hkd ¥ Ls

(D) ®4Epedr K3k 5 E 4
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18. F % g~ F 2 L 4 §5& 5 1005 % s~ & 520# (8 > F

T 5 b5 9

(A) 0.625
(B) 1.25
(C) 2.50
(D) 5.00

19. % F Bei F 758 5 R= K[A]?[B] » BI ¢ & J& %, % #c (overall
reaction order)&_% > ?
(A) 1
(B) 2
(C) 3
(D) 4

20. 2.25C ™ » B2 1L 4 "F? v Mgl l¥r2 0 & % 4 ~ 0.00200 M KSCN
k73 % 10.00 mL s 21k A 1% ¢ 4 » 0.200 M Fe(NOs)s-k i3 i
10.00 mL> ¢+ 5 v & B2 > A 2%%? ¥ B 4c ~ 10.00 mL 0.0800 M
Fe(NOs)s'k iz ik » #24 v ¢ w ik Fimg it & F 3] fr> &1
L%?Z%S{P"ﬁ%‘,"!vj.éﬁéx.l_i"b"é'%k?iiiiﬁ”g $5F§5
XA LELE P B R S )’;.é870cm’2%fu5§ %10.00cm - B
28,14 ¢ # ¢ FeSCN*™ER 5 5 " M?

(A) 8.70 x10°
(B) 8.70 x10°2
(C) 8.70 x10°3
(D) 8.70 x10
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(A) ~# it 8EFERF FTods g 2aps
(B) A 471 F gl & LA 478 T E A 47
(C) L& A 49 %P % chif ¥ £ 5 10~100 mg
(D) FF& (&% )F % ¢ 7 HF & FEHRL
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(A) 2 Ao §ahBEma v skial=  § 4
(B) m#tfeheT E AR Y B~ F g2 =g
(C) & * FegvalPi % _- =
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24. #-100.00 mL#0.500 M? # HCOOH £ 100.00 mL=71.00 M " f 4
HCOONai® & 2) &+ % =iz i » 3 & B ¥ ([H']: 5 S M?
(7 Bt hKa = 1.74x10 %)
(A) 1.74x10 *
(B) 1.74x10 5
(C) 8.70x10 ®
(D) 8.70x10

25. ¢ fRtp L& B B HM(OH)s ik ¥ i ik 5y mol/L - Rl B
2_ 0% ﬁ*&ﬁ ¥ WKsp®E 5 7 ° 7
(A) 9y°
(B) 27y*
(C) 18y°
(D) 4y°

2. § W ERDH SRS KR T Ak
(A) 488 5 =
(B) 48 i 5 . 5‘
(C) il _ﬁ EL /%\ ,f
(D) 4 8 & =

b Y

(] \'—oﬂ \-ﬂ

27. #-F & e 49 TR (K2Cr207)i3 f2 -k ¢ » 903 & eni3 ik & R 7 fB 3
¢ 9
(A) # ¢
(B) « ¢
(C) % ¢
(D)

28. ¥R AH#F AR 4 »3M HClagy® & 2 6 & ftE » Pl % 7 7%
4 g :
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29. = H+ TMHALEITFHR? 0T 7
(A) SCN £ Fe3* it % 4 & g & 4
(B) Cl &2 AQTiE* 4 v ¢ iu ik
(C) CrOr ¢ Ba?* it * 4 & § ¢ /n
(D) Fe(CN)* g2 Fe?*it * 4 & 4% 4

30. #P~2.0000% 2 F 4B &E K > B[R B4+ F R 2 Fe(OH)si
oo LS S Fe03 LEWESF HE R F159705 0 3 EF
BY B FE A2 2%? (2 + £ Fe=55.85> 0=16)

(A) 17.53
(B) 27.93
(C) 35.86
(D) 48.62

31. T Alie F A A AHEE G DIEE D
(A) %3 % &k
(B) % % fa
(C) 7 o~ hi + &
(D) & & %99.99% 2 ¢

32 3P FEAHIRE TR LR
(A) P Rt REF7 @
(B) 7F LPF > F LF LR
(C) FHlBRiBRe £F
(D) —pvu?r\:!g_"*"bs;&sﬁ"jé

AR L ER M B IEG L8000 A 0 b &
B FE A 5 4.402 4 > B ¥ e ¥ dc(retardation factor)Rs &
f?

(B) 1.
(C) 0.550
(D) 0.355
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34. £ B 2 000 g# & fis > 120.100 M= NaOH-k i i if % > 4 » 15.50
mLp2ld§ 8 Rl s@pY SpRazEp » 5502 (R
0~ F _‘:60)

(A) 4.65%
(B) 6.65%
(C) 8.75%
(D) 9.30%

35. 0.2680 5 4 51Na2C2043% #| > 2 KMnO4-k i3 % jF .1 % 8 > * 4

4000 mL- Pl B4afMérnE HE 2 LRGP 2 (RS £ :1C=12>

H=1> 0=16)
Bt F T
2 MnQO, +5 C,07 + 16H" — 2 Mn?*" + 10 CO2 + 8 H20
(A) 0.0625
(B) 0.1250

(C) 0.2500
(D) 0.6250

36. 21.00005 & v # (7 »x = & & Ca(OCI)Cl)pz = 100.00 mLem-k i3
o B~ 12500 mL o 4 ~ KIZ fr?:%éi ”}“’r dengk > 2 20.00 mL 0.1000M
Na2S20s1& # % jfF T2 » P& v § 03 20 g g £ F 4 v (Cla%)
S0 9 (ClaA & £=71)

(A) 7.10%
(B) 14.20%
(C) 20.00%
(D) 28.40%

37. M EDTAZ fcif » T 7l fcit i F & A% ?
(A) 2 & %33 21mol: 1mol = ;28
(B) jr#pihr7hEEthss
(C) EDTAZ 4 3@ A&k ¥ 3 f2 & /)
(D) B *-kpr> 703 I AFEHPEE > THY R4 E BT 2
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(C) ‘¢ % ez %z ¢ > £ 1300~650 cmifi 5 47 ¥
(D) = iH-vt & (Lambert-Beer) T & (& v B -9 i 2 ) * E @
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39. TG MK T2 kit o P A7
(A) o B 172 g i b dhad g 1T AP
(B) #AnAd7iz A B & Ap L5 M > # bip 5 BH &R H
(C) » > Gkt 3 RhEILJ)* 3T
(D) iR dp & 472 ch T Ap & 45 2 #F 1L AP R 12 3 3 R L
40. B Rl F fee o ehfeok L3 R AEEBDB Lo K R
FajeZit vR*» THArPBERERRAMBIESY £ 2HD7
£ ?

(A) & =+ &z %k F & (AAS)
(B) # 4 & 47 & (GC)
(C) + & % 4 & (NMR)
(D) i * % % 3 & (IR)



